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c r co  + CY

1 =
‘0

Y = c + I

bleri?

C = ni5dh (consumption)

co = niauShG%m (autonomous consumption)

c = bpsabGsJlmiau^aTnm~u  (MPC)

Y  =  7ldb  ( i n c o m e )

I = niaas7p (investment)

IO = niaa9y-&m (autonomous invrstment)
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C, + AC,)  + I
Y + A Y  =

0

1 ~~  c
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co + I 0 AC
YtAY = + 2

I-c 1 c

Y+AY  = ?, + ‘0 + 4

1-c

GO

cc, + 41 A I
YtAY  = +.L!

1 -c l - c

Pf%Rl
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C" - cl
mnY= -

" t IO i Go

l-c
Y

Y i AY =
C,  - c(To  t ATJ  f lo  + G,

I - c

wio

Y + AY =
c, = CT0  - CAT0  t l o  + Ga

I - c

QA;cl

cATo
Ay ; - -.



Y =
Co ~ CT”  + lo  + Go

1-c

Y + AY = 5 ~ c(To  + AT<,  ) + I,] + (G<,  + AC;,  )

1 --c

Y + AY =
c,, - CT,, - CAT,,  + I, + G,, + AG,

I - c

H%

Y + AY =
Cl,  - CT”  + I,, + G,, AG,  ~ CAT,)

+
l - c 1 --c



-cdH + dHdY= __
I - c
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dY AY- = - z
dC” ActI

dY- 5
dT,,

dY- =
dG”

EC 443

AY- =
ATO

AY- =
A I 0

AY- =
AGo

1
1 - c + ct

1-
I - c + ct

1
1 - c + ct

1
1 - c + Cl

101



dY AY I - c- = - =
dB,l AB I - c + ct,J



AT = t
1 - c + ct AC,,
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dT =
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c = 100  + 6Y

bawwil  c, I LbRf G ~9Iummi4ywmi~  Y = c + 1 + G ~:K+I

Y = 100 + .6Y  + 145 + 155

es%

(I  ~ .6)Y  = 400

dl T

T = -40 + .2Y  16

T = - 4 0  +  .2(1,000)

T = 160

dl Yd

Yd  = Y ~ T 7.6

Y, = 1,000 - 160

Y, = 840

dl c

c = 70 + .75  (Y,) M

C = 70 + .75  (840)

c = 700

dl~3ueonnlnrenroa  (Yd  - C)
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E = 1

A% 1 - c + ct

% % I

AY
1

= 1 - c + ct ‘%

Y
Iw31".-jl AC;,, = 20, c = .75, 1 = .2 aLYlu+ilal46jl~9t~6~lw

AY = 1
1 -- .75 + .15’

20

IA
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1,000 1,050 + 50

700 730 + 30

145 145 0

155 175 + 20

160 170 + IO

840 880 + 4 0

140 150 + 10

- 5 5 + IO
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aw51ti1
AY --c- ZY
ATi, 1 ~ c + Cl

AY ~ .I5- cz
AT,i 1 ~ .75  + .75(2)

L a - 1.875
p1una

AY = - 1.875AT,,

AY = - 1.875 (-20)

l&l

AY = 31.5 w~u~1uE11w3
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AY- z l - c
AB 1 - c + ct

AY = ‘-’  AB
1 - c + ct

AY = ,625 (20)



RlWldGl%Ci

C = c,, + ‘Yd

Yd =  Y - T

T = T,, + tY

1 I,, - iR

G = G”

Y =  c  +  I +  G  qnUnlw~al~NaHzn

MD = Lf + L7

LI = kY

Ls = M,  - mR
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MS = kY  + MO - mR

MTD
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